[1/7 [bp] [ |Ar [bp] o
Partitioning A, Subset 1/176.8 13.60 0.6 2.29e-4
Partitioning A, Subset 2{|177.5 13.66 -0.4 2.15e-4
Partitioning A, Subset 3{/176.9 13.65 1.3 2.46e-4
Partitioning A, Subset 4|/177.5 13.74 0.6 2.45e-4
Partitioning B, Subset 1/176.6 13.79 1.6 2.30e-4
Partitioning B, Subset 2{/176.6 13.65 0.6 2.54e-4
Partitioning B, Subset 3{/177.9 13.53 -0.4 2.14e-4
Partitioning B, Subset 4(/177.6 13.67 0.5 2.42e-4
Partitioning C, Subset 1|/177.2 13.74 -0.3 2.36e-4
Partitioning C, Subset 2{|176.6 13.60 0.7 2.31e-4
Partitioning C, Subset 3|/ 177.9 13.74 0.6 2.48e-4
Partitioning C, Subset 4{/177.3 13.59 0.6 2.24e-4
Partitioning D, Subset 1{/176.9 13.65 14 2.26e-4
Partitioning D, Subset 2{|177.3 13.76 0.4 2.39e-4
Partitioning D, Subset 3||177.2 13.61 -0.4 2.28e-4
Partitioning D, Subset 4{/177.0 13.60 1.5 2.36e-4




